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(1) This book was written in the house.
(2) The house was very spacious.
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(1) This book was written in the house.
(2) The house was very spacious.
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= The house in which this book was written was very spacious.
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Christmas is a day on which many families get together.
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(1) Christmas is a day.
(2) Many families get together on the day.
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This is an example of a situation in which the assumptions hold.
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(1) This is an example of a situation,
(2) The assumptions hold in the situation.
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The house in which this book was written was very spacious.
= The house where this book was written was very spacious.
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